Math351

Practice Exam #01

1. Simplify the expressions.

a)14 -6 b) —12 -3 c)-45+6

2. Use the rule for the order of operations to simplify the expressions.

) B6+12+2.2 b)3.3°+8+4— 22




3. Simplify the expressions.

Y _22_ 2
42 b) (-2) -3
—1-1 2-3

4. Find the volume of the box below.




5. Find the following:

a) Find the Perimeter for the shape below.

2 ft

10 ft

5ft

6 ft

6. Simplify as much as possible.

a) —2°—|-2-1]+2

b) Find the Area for the shape below.

6 ft

5ft
3 ft

10 ft

2 ft

2 ft

b) 5+(-|-2/+3)



7. First, write out the mathematical expression. Then simplify the expression.

a) The difference between -5 and -4. b) Subtract -3 from the quotient of -6 and 3.

8. Simplify the expressions.

a) -3[ (-2 1] b) -2[(4+3) -39




9. How many 4-ounce glasses can you fill using five 12-ounce bottles of soda?

10. By inspection, find a solution to each equation.
a) -3+x=4 b) -3-x=-27 C) 2—-x=6

11. Answer true or false.

a) The opposite of -3 is greater than |4 b) —|-1>|-2| ) -75<-76



12. Simplify the expressions below.
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13. Simplify the expressions below as much as possible.

5 3 1
a) — . — 4+ =
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2. Use the rule for the order of operations to simplify the expressions.

96+12+2-2 53-3+8+4-2’
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3. Simplily the expressions.

z 2 _

2 47 -2 (2) 3
~1-1 2-3

—le -4 4 -9
"z =
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4. Find the volume of the box below. 5




5. Find the following:

a) Find the Perimeter for the shape below. | b) Find the Area for the shape below.
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6. Simplify as much as possible.

a) —2°-]-2-1]+2 b) 5+(-|-2|+3)
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7.

First, write out the mathematical expression. Then simplify the expression.

o 5S4 S 1150

a) The difference between -5 and 4
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b) Subtrcu:t -3 from the quotlent of -6 and 3.




0. How many 4-ounce glasses can you fill using five 12-ounce bottles of soda?
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10. By inspection, find a solution to each equation.

a) -3+x=4
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11. Answaer true or false.

a) The opposite of -3 is greater than |4

b) —3-x =-27
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12. Simplity the expressions below.




